Multiplicer med 10 -magter (manglende antal)

8, 68 x

4,764 x

5,31 %

5,583 x

4,322 x

3,462 x

7,509 x

2,44 x

6, 062 x

= 7085

= 86.8

=47.64

=53.1

= 5583

= 4322

=34.62

=750.9

— 2440

= 606.2

Dato:_ Score:__

6, 085 x = 60.85
6, 124 x = 61.24
10, 452 x =1045.2
3,295 x = 3295
3,403 x = 340.3
1,105 x =11.05
1,566 x = 15.66
4,924 x = 49.24
1,1x = 1100
9,184 x =91.84
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Multiplicer med 10 -magter (manglende antal)

7,085 x 1000 = 7085

8,68 x 10 = 86.8

4,764 x 10 = 47.64

5,31 x10=53.1

5,583 x 100 = 558.3

4,322 x 1000 = 4322

3,462 x 10 = 34.62

7,509 x 100 = 750.9

2,44 x 1000 = 2440

6,062 x 100 = 606.2

Dato: Score:

6,085 x 10 = 60.85

6,124 x 10 =61.24

10,452 x 100 = 1045.2

3,295 x 1000 = 3295

3,403 x 100 = 340.3

1,105 x10=11.05

1,566 x 10 = 15.66

4,924 x 10 =49.24

1,1x 1000 = 1100

9,184 x 10 =91.84
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